Roll No. (3 #¥i® F@&) ................. Code (e %) 822-23 M - M

Please check that. this question paper‘cbntains 33 questions and 15 pages
mma%wm—qﬁ#qﬁww%www%l

ANNUAL EXAM. (a1fie o) FEB. - MAR 2023 (xad—Ard: 2023)
CLASS () - VIII (3mad)
MATHEMATICS (71forq)
General Instructions :

1. This'question paper contains two parts A and B.
Part-A :

® ltconsists of two sections | and II.
° Sectio_n I Question no. 1 to 10 are Objective Type questions / Very Short Answer Type
Questions of 1 mark each. Internal choice is provided in 3 questions.

® Section Il : Question no. 11 and 12 are Case Study Based Questions. Each case study

o has 5 case-based sub-parts. An examinee is to attempt any 4 out of 5 sub-parts.
art-B : |

®  Section lll : Question no. 13 tg 21 are Short Answer Type-1 questions of 2 marks each.

® Section IV : Question no. 22 to 29 are Short Answer Type-2 questions of 3 marks each.

® Section V : Question no. 30 to 33 are Long Answer Type questions of 5 marks each.

2. Both Part A and Part B have internal choices. :

3. Internal choice is provided in 3 questions of 2 marks, 2 questions of 3 marks and 1
question of 5 marks.

4,

Please write the serial number of the question as per question paper before attempting
the question. :

o.  In questions of constructions/graph, the drawing should be neat, clean and exactly as
per given measurements. Use ruler and compass only.
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Q1.

Q2.

Q3.

Q4.

Q5.

PART -A (AT 3))
Section - | (@s - )
[Each question is of 1 mark]

[IA® T3 1 3P T &)

Simplify J0.9x+1.6
WA BINTT V0.9x+/1.6

Evaluate : i@
3250

‘ 3128

87153

Evaluate :
2—4

M o Ay xS

2-4

If 6° =1, then find the value of (x-2)_

T 6" =18, qM (x-2) T 79 519 BT

OR (3reram)

s (344

I -2 1 -2 1 0
wer s 2] +(5) 43
| 2 3) \4
Find whether the given expression is a polynomial or not. If not, give reason.
N3z = 2 +6
zZ

STd BT & e T @feis U 9gue & a1 78 | afe =1, df ST 3qrg |

\/522—24—6
z
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Q8.

Q7.

Q8.

Q9.

Q10.

OR (3reran)
Write the degree of ponnomia;l 7" +q°-q* +4°
agre ¢ +9° —4'+4" P ua fRay |
For what Qalue of x ,is ||| m?

x3 g a9 & forg ||| m &7

45°

Find the sum of interior ahglés of a regular octagon.

S Tfid s & siiaRe o 1 @ g @R |
Find the distance between the point A (0, 1) and B (0, 8).
ﬁgA(o,1)aﬂvB(o,8)$aﬂaaﬁr§€r§iﬁﬁm|

N

v

N

\ 4
8

Write the co-ordinates of a point on positive Y-axis at a distance of 4 units
from the origin.

T fa7g ¥ 4 THR B QW &I Y- I W B g B Fiswie ik |
OR (sreram)

Write the co-ordinates of a point at which the x-axis and y-axis intersect.

9 fag & fcens foaRey o W x - 317 iR y - a8 ufdreog o= €

Heights of 20 saplings in a nursery is noted (in cm) as -

89, 79, 102, 90, 94, 124, 111, 87, 88, 103, 72, 126, 125, 88, 98, 96, 127,
128, 74, 80 '

Find the range of their heights.
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P T # 20 T B G @ W) S w0 AT B o B

89, 79,102, 90, 94, 124, 111, 87, 88, 103, 72, 126, 125, 88, 98, 96, 127,
128, 74, 80 ,

ST T 1 oRR 9 g |
Section - Il (@s -1 )

Case study based questions are compulsory. Attempt any four sub
Parts of each question. Each sub part carries 1 mark.

Wwwﬁammmﬁmﬁmma%ﬁﬁﬁﬂww—w
*WWTWWW1G’$%I

Q1. case study 1
?(;I‘ya ileason sale, Raghav sold a watch for ¥ 990/ and made a profit of
o. Fé sold a radio at the same price and suffered a loss of 10%
Based on the above information answer the following question :
(i) Total S. P. of both the items is-
(a) ¥1980 (b) F990
(c) 1089 (d) 1900
(i) C.P. of the radio is-
(a) ¥ 891 - (b) %1100
(c) Z 1000 (d) Z1980
(i) Total C.P.of both the itemsis -
(a) ¥ 1980 (b) %2200
(c) ¥ 2000 (d) 1800
VIl MATHEMATICS (4)



(iv) Loss on selling the radio is -

(a) 90 (b)

(c) ¥10 (d)

(V)  Total gain or loss on both the items is -
(@) ¥ 20 (loss) (b)

(c) T 40 (profit) (d)

YR 1.

7100
F 110

3 20 (profit)
T 40 (loss)

TF o B ¥ |, ET T TF g 990 w9 A I iR 10%. H1 A
HHAT | SHT S el W TF (AN T2 3R I 10%.%! B 8% |

SR TGN & FER ) Frefifed vt 3 I &=

() = agel &1 G fawa T 2
(a) T 1980 |

- (c) T1089

(i) TS @1 HI I B
(a) 891
(c) T 1000

(i) <M a@aﬁ_ BT Fd BT ol o—
(a) T1980
(c) F2000

(iv) X @ R w e
(@) F90

(c) ¥10
VIIl MATHEMATICS : (5)

(b)
(d)

(b)

@

(b)

(d)

- %990

Z 1900

< 1100
< 1980

F 2200
¥ 1800

7100
F 110
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(@) T20 (&) b) T2 (@)
Q12 (¢) T 40 (em) d 40 &)
. Case study 2
After senior secondary examination, students have craze abo_ut a new
f their choice- : |

Phase of college life. They opt courses 0
: ed in different

tudents admitt

;I'he inen pie-chart shows the number of s dmitted
aculties of a college in a particular year. If 1000 students are admi
uestions pased on the given

In science then answer the following q
information.

Science
. 100°

(i)  Total number of admitted students is -

(a) 7200 (b) 3600
(c) 1800 (d) 5400
(i)  Number of students admitted in education is -
(a) 300 (b) 600
(c) 450 (d) 150
(iii') Ratio of students admitted in Arts and Commerce is -
(@) 5:6 (b) 3:10
(c) 9:13 (d) .24:13

If the fees of registration form is ¥ 500 then total amount received
by the college for law students is - ‘
(a) ¥1,50,000
(c) ¥2,25,000 (d)

(iv)
(b) . ¥3,25,000 .
T 75,000

PP ==
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(v) The percentage of total number of students admitted in Arts is -

(8 319 (b)  63%
(c) 331% (d) 165%
YaR 2.

IR afs e & g BET ¥ o AT B T A W DGR
SHIG BIAT &, d AU U6 B YISIHH T & |

ﬁmwa—ﬁaw%ﬁﬁw%%ﬁﬁﬂmﬁméﬁ
aﬁmﬁaﬁﬂwaﬁaﬁm%mﬁmoamﬁﬁﬁﬁﬁﬁmmﬁﬁ
A TE TSN B IR W AR gwE $ SR Af—

| } 4 ll ‘
g 4 307
A v 5
G . N ,‘ ’ Commerce
A \ i 65"
e X ) Y , ] Science
S W 100°

(i) 9<% UM arel BIA B BT GEAT 8-

(@) 7200 (b) 3600
- (c) 1800 - (d) 5400
(i) e Fem § e g 9 BT A G wen -
. (a) 300 (b) 600
(c) 450 @ 150
(i) Pem 3R AT § Fa @ el BTAN BT U 8-
' (a) 56 (b) 3:10
(c) 9:13 (d) 24:13
(v) af¥ Goliawer G @) W 500 SR o1 Sier g o (@) @
B W W F SR B
(@) Z1,50,000 (b) ¥3,25,000
(c) Z2,25,000 (d) 75,000
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Q13.

Q14.

Q15.

Q16.

) e ¥ T O A e ) et e @1 I &
(a) 31% | ) 63%

(©) 331% @ 165%

PART - B (91T 9)
Section - lll (& - Il
[Each question is of 2 marks]
[ Ve e 2 3% BT 8 ]

Find the smallest number by which 3087 must be div
quotient is a perfect cube?

ﬁmﬁﬁmﬁmaﬁaﬁﬁqﬁmﬁwa?ﬁmaﬂﬁwmw

ided so that the

EURCER I

OR (3Feran) |

Find the cube root of 21952 by estimation.

aeper fafdy BT TANT PP 21952 HT TS A DI |

7 9
. 2_ 2
Find the value of :36 5362
362
7 9
362 362

ST HF 1T Do |

362
After allowing a discount of 8% on a book, it is sold for T 828. Find the
marked price of the book. '

TF TP W 8% P GE ¢ F TG, gﬁ?szaﬁémmélwfm
ma@aﬁaﬂﬁm

Factorise : X% —11lx +30
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X% —11x+30 BT TOHES STA B |

Q17. Solveforx: 17(2_315)—75(“12):8
=JX

x3 R 53 iR 17(2—);)'—75(x+'12) A
-Tx

Q18. | the given figure, |P =70°and RT || PO.

IFITRS = 40°, find the other two angles of the triangle POR

P
b
L R 7S
fo Ty for ¥ |££70°3TNEIIFQ_
I [TRS = 40° 2, A R[S POR & 34 2 $17T 5T Aifmw|
P
D

OR (3ferd)
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Q19.

In the given figure, AB || DE. Find [4CD

A

A | >

D : E

The perimeter of a trapezium is 104m, its non-parallel sides are 18m and
22m, and its altitude is 16m. Find the area of trapezium.

TP G TS RTHIAR {og 18 Hiew 3R 22 Wier & iR swal s
16 Hex & &1 gRAT 104 Hiex T | THAT $T &FBa F1d DI |

OR (3Feran)

How many soap cakes each measuring 7cm x 5¢cm x 2.5cm can be
placed in a box of size 56cm x 40cm x 25cm?

7 A x 5 QAL x 25 AA. B AU B ST T DD 56 WA, x 40

CFAL x 25 WAL ABR B TP A § I S G F |
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Q20.

Q21.

Q22. .

Q23.

Q24.

Find the volume of a cube whose total surface area is 384 cm?

wwﬁwwwmmaﬁﬁﬁ%ﬁﬁrwaﬁmm

'Acard is drawn from a well shuffled pack of 52 playing cards. Find the

probability of getting :
(i) adiamond queen.
(i) ared face card.

52@%@@@@%%%@@@@@%%
& | MR ST S 5 a8 T - |

(i) TP ST A I
(i) TP el TR IrelT U |

Section - IV (@s - IV)
[Each question is of 3 marks]

[IR% UeT 3 3 & 2]

Find the least number which must be subtracted from 7581 to obtain a
perfect square. Also find the square root of the number so obtained.

ﬁmﬁmﬂwaﬁaﬁmﬁlﬁnmﬁﬁmwwwﬁw
Wa‘rlwmmmﬁavﬁwﬁaﬁml

If 4° —4*1=24, then find the value of x
IS 4* 414 B Al x WWWWI

Atrain 340m long is running at a speed of 45km/hr What time will it take
to cross a 160m long bridge?

340 I} A TP VATl 45 fhariier ufeer ) 1R ¥ e @ 2
160 HIeX & Yol &I UR A ¥ I8 fhaan wwa onfi?

OR (3roran)

In a fort, 300 men had food provisions for 90 days. After 20 days, 50 men
left the fort. How long now would the food last at the same rate? -
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Wﬁﬁﬁ,aoomﬁvﬁa?wgoﬁﬁaﬁmaﬂmﬂm%ﬁﬁ?lﬁ:ﬁﬁ
;jnﬁsom%waawc{@m@rmﬁ |

. .

Q25. :
Factorise : 4a? +52 4 2562 1 405 — 10be - 2000

TS DI - 4a® +b% +25¢ 4 4ab—10bc - 20ca
' OR (sreran)

Simblify' 2.3x23-03%03
'23x23—2x23x03f03x03

' 23x2.3-0.3x0.3
R I
2.3%x2.3-2x23x0.3+0.3x0.3

Q26.  Using long division method, find whether (2¢-1) is a factor of

(4¢° - 49-64°+3) or not

T A BT g RS T ARG (29-1) TR (4% —ag-64° +3) T
U UGS 2 Semar T | |
Q27..  In the given figure, show that:

Y N

A B
40° . v
20° ' 160°
20°
C D
() 4BIICD
(iy CDI|IEF
(i) AB| EF
-vm MATHEMATICS - (12)



() 4BlCD
} (i) CDI||EF
b (ii) AB||EF

~ Q28. PQRS s a parallelogram whose diagonal intersect each other at right

angles. If the lengths of the diagonals are 6cm and 8cm, find the lengths
of all the sides of the parallelogram.

QRS 7% WA et 2, Rrerd ot 7 Gt @ W W AR
FRA | A ot A g 6 A ok 8 WL B, o AR A A
- STAT BT TS I B |

Q29. The quantity of petrol filled in a bike and the cost of petrol are given in
the following table. '

i Litres of petrol filled 4 6 8 10

' Cost of petrol (3) 400 600 800 1000

Draw a graph to show this information

wmﬁﬁwﬁ;ﬁaaﬁwaﬁﬁ;ﬁawa@ﬁﬁﬂﬁwﬁﬁmw%;

ﬁmmﬁw(ﬁaﬁ) 4 6 8 10
el @ B (T H) 400 | 600 | 800 | 1000
wmﬁwﬁmwmml
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i ' " 0. 29.
Alternative Question for visually challenged students in fieu of Q.N
T S 29 B WM W gfeary v & fare AR

The diagonals of 5 rectangle ABCD intersect at O. If [BOC=70".

Find |0D4
WWABCDE#W%OWWWﬁlUﬁM:mog
@ 10D4 s aif

Section - V (@< - V)
[Each question is of 5 marks]
[R% 7% 5 3iF P 3
The difference between the compound interest (compounded annually)

and simple interest on 3 certain sum of money at 6§%, per annum for
three years is Z 46. Find the sum.

Q30.

DR U S ——
Wﬁ"ﬁ)eﬁ?mmﬁwquﬁﬁmﬁraﬁﬁml -

Q31.  Analtitude of triangle is five thirds the length of its corresponding base.
If the altitude increased by 4cm and the base decreased by 2cm, the

area of the triangle remains the same. Find the base and the altitude of
the triangle.

m4ﬁ.ﬁ.wm%mwzﬁ.ﬁ.mawéﬁﬁﬁmm
aﬁmaﬁw%lﬁaﬁzﬁrmaﬁw‘ﬁﬁmfﬁm|

OR (3reram)

Two trains start simultaneously from two stations 300 km apart and move
towards each other. The speed of one train is more than the other by
20km/hr. If the distance between the trains after two hours is 20km, find
the speeds of the trains.

VIll MATHEMATICS (14)




ﬁmﬁﬁaoo%.ﬁ_ﬁﬁwmﬁam@w@aﬁaﬂvw
A A | v

i TS Y Ry qwrdy 20 fondl, iy vt ofdies 81 AR
%ﬁjmm@lﬁa}mﬁiﬁzoﬁiﬁ%ﬁmﬁﬁaﬁnﬁm
| .

Q32.  Construct a quadrilaterg| ABCD in which

—A_—B = Sscm, -§E = 6_scm’ l_4= 600, lg - 1200’ and LD_ =75°.

TP TGN ABCD A T e R
4B =558, BC =g 544, |[4=60°, |C = 120°, &= |D = 75° & |

Alternative question for visually challenged students in lieu of Q. No. 32.
mﬁ@rsﬂ%mﬁwq&aﬂﬁawﬁ%ﬁwamml

Find the square root of 3 correct up to three decimal places

3 BT TS e & A vt o ad S B

Q33.  Find the weight of 5 lead pipe 3.5 m long, if the external diameter of the

pipe is 2.4 cm and the thickness of the lead is 2mm and 1 cubic cm of
lead weighs 11gm. '

U% 3.5 HIex o o UISY &7 YR S I, AR U157 &7 are) e 2.4
AL 3R e Y Ao 2 Mol diex oK 1 T A, o B AR 113 2
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